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Choose the part of the sentence that is incorrect in questions 26 to 29.

He said that the horse died at the night.

%" @ 0 @

27 The teacher told the boys that honesty was the best policy.,
) (1) 2) (3) )

28 She has fallen off with the boy she wanted to marry.
) (1) - @ 3 @

29 Both your hands are being dirty so you must wash them.

) (2 (3) 4
Choose the correct option in questions 30 and 31.

30. Somebody has eaten all the biscuits. _
(1)  All the biscuits were eaten. (2) Al the biscuits have been eaten.

(3) All the biscuits areeaten.  (4)  All the biscuits somebody ate.

31. “Fetchmea glaés of water,” he said to Ravi.
(1) He asked Ravi to fetch him a glas's of water, '
(2) " He asked Ravi that fetch him a glass of water.
(3) He said to Ravi to fetch him a glass of water.
(4) Ravi said to fetch me a glass of water, _
SPACE FOR ROUGH WORK
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Select the appropriate word for the given sentences in questions 32 and 33.

32. One who practices self-denial as a spiritual discipline in life is a(n)
(1) ascetic _ (2) atheist
(3) agnostic = (4) bigot

33. One who dies for a noble cause is called a
(1) libertine | o {2) narcissist
(3) polyglot (4) martyr

Select the synonym from the choices given in questions 34 and 35.

34. Accord
(1) assail {2) capricious
(3) bravado (4) agreement .
35. Cogent _
(1) convincing ' (2) Dbaffling
(3) Dbizarre (4) ridiculous

Select the antonym from the choices given in questions 36 and 37.

36, Relentless

www.upscstudymaterials.com

(1) merciless ) _ (2) vyielding
(3) monotonous , (4) incisive
37. Politt |
(1) insincere | (2) rude
(3) insensitive (4) inquisitive
SPACE FOR ROUGH WORK
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38. The umbrella ‘with a broken handle’ is mine. The underlined part is an

(1) adjective phrase : (2) adjective clause
(3) adverbial phrase _ (4) adverb clause

39. They rested ‘when evening came’. The underlined part is a/an
(1) adverb clause E ~ (2) adverb
(3) adverb phrase {4) preposition phrase

me 40. That he is to blame, is beyond doubt. The underlined part is a/an
(1) noun phrase ‘ (2) noun clause
(3) preposition phfase ' (4) adverb clause

Read the following passage and answer the questions that follow (41-45) :

Vishwaditya, a great and powerful king, heard that a great physician who lived in the
neighbouring kingdom had invented an edible medicinal substance which, if eaten with sweet-
meat, would give one a long life. He invited the physician to his kingdom. The physician arrived

- with four sweetmeat balls mixed with the magic substance. The delighted king ordered his
soldiers to bring a big garland of fragrant flowers to honour the physician. The physician
removed the precious cloth with which he had covered the plate of sweetmeat balls. The joy of
the king knew no bounds on seeing the contents of the plate. Just as the physician was about to
offer the sweetmeat balls to the king, the court jester rushed forward, picked up a ball and began
eating it. Everyone present in the court was shocked. “Take hold of the madcap !” shouted the

| king. The king’s bodyguards obeyed. The half eaten ball fell from the jester’s hand. “How dare
you touch the magic thing meant for me 7 Be ready for the consequence — Death!” The jester
started weeping. “No use crying”, said the kmg “I am crying for you, my Lord !” replied the
jester. “Why ?” asked the king. “My Lord by eating mﬂy half of the magic thing I am going to
die, what will happen to you if you eat all of it 7’ The king saw sense in what the jester said. He
realised his mistake and rewarded the jester generously. -

SPACE FOR ROUGH WORK
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41. A physician is one who

(D
(2
3)
)

does research connected with physics.
treats people who are ill.
studies the nature of life.

None of these

42. 'Which of the following statements is true ?

o))
(2)
3
C))

The physician lived in a far-off country.

‘The king was credulous.

The magic substance had been tested to prove its efficacy.
The messengers caught hold of the physician.

43. A jester is a person who

(D
@
3
@

is employed by the king to amuse him.
is generally fond of sweetmeats.
laughs at the king

likes to eat a lot,

44, “The king’s joy knew no bounds,’ means that

o))
&)

the king was véry happy. (2) the king was pleased.

the king was shocked. (4) the king was unmoved..

45. Give the antonym of ‘Precious’.

(1) Cheap (2) Ordinary
(3) Simple 4) Ugly
SPACE FOR ROUGH WORK
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Fill in the blank choosing the correct option in 46 to 50.

‘What’s that terrible noise ? The neighbours a paﬁy’.

www.upscstudymaterials.com

46.
(1) have been having (2) had been having
(3) are having (4) was having
47. . » When a policeman knocked at the door.
(1)  Scarcely had he gone (2) Scarcely did he go
(3) Scarcely would he go (4) None of these
48. Unless you apologise
(1) I will praise you. (2) 1would punish ydu.
(3) Iwould have praised you. (4) Iwill punish you.
49. Camels are peculiarly life in a desert.
(1) adeptat (2) adapted to
(3) adapted at (4) None of these
50. His fatheris____ MLA. _
(1) an 2) a
(3) . no article - (4) the
SPACE FOR ROUGH WORK
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51.

52.

53.

54,

55.

56.

Ramsagar Wildlife Sanctuary is situated in ,
(1) Dholpur (2) Banswara
(3) Chittorgarh ' (4) Baran

In Rajasthan more than fifty percent forest area is included under the category of
(1) Reserved forest area -~ (2) Protected forest area,
(3) Unclassified area _ (4) Social forestry

As per Census 2011, the percentage of urban population in Rajasthan is
(1) 252 (2) 24.0
(3) 249 _ (4) 257

Which one of the following is not a centre of cement industry in Rajasthan 7
(1) Gotan (2) Morak
(3) Beawar (4) Gulabpura

The number of women members in 14% Rajésthan Legislative Assembly is
(1 27 : 2 25
3 23 4 28

Identify the group of persons, who tock oath as Chief Minister of Rajasthan on three or
more occasions :

(1) Jainarain Vyas — Mohanlal Sukhadia — Harideo Joshi

(2) Mohanlal Sukhadia — Harideo Joshi - Bhairon Singh Shekhawat
(3) Bhairon Singh Shekhawat — Shivcharan Mathur — Harideo Joshi
(4) Mohanlal Sukhadia — Heeralal Shastri — Jainarain Vyas

SPACE FOR ROUGH WORK
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57.

58.

59.

61.

The maximum strength of Judges in the High Court of Rajasthan is
1y 27 _ o (2) 35
(3) 40 4) 45

Among the following, which scheme of the Government of Rajasthan is spemﬁcally
related to Social Security ?

(1) Sambal Gram Scheme (2) Nav-Jeevan Scheme
(3) Anuprati Scheme (4) Pannadhay Jeevan Amrit Scheme

Excluding the cha1rman, what is the maximum strength of members of Rajasthan Public
Service Commission ?

(1) 5 2) 6

3 7 @4 8

In Rajasthan; where has NALCO commissioned its second Wind Power Plant in 2014 7
(1) Dhursar {2) Bhadla
(3) Ludarva | - (4) Mathania

Among the following, which notified ‘Special Economic Zone’ (SEZ) in Rajasthan is
related to Bikaner ?

(1) Mahindra World City Q) RNB Infrastructure
(3j Genpact Infrastructure (4) Somani Worsted
62. Where does the Poﬁltry T_raining Institute is situated in Rajasthan ?
(1) Alwar _ (2) Ajmer
(3) Kota (4) Tonk
SPACE FOR ROUGH WORK
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63. Of all the Natlonal Highways in/passing through Rajasthan, which one has the longest
distance in Rajasthan ?
() NH.8 (2) NH. 11
(3) ‘NH.14 . B (4. NH. 15
64. From where in Rajasthan, the Soil Health Card Scheme was 1a1mched by the Prime
Minister Narendra Modi ?
(1) Suratgarh . (2) Hanumangarh
(3) Sangaria _ (4) Nokha
65, ‘Jaipur Metro’ runs between .
' (1) Pratap Nagar to Railway Station (2) Mansarovar to Chandpol -
{3) Mansarovar to Ajmeri Gate - (4) Chandpol to Sanganer
66. In which discipline, Shri Meethalal Mehta has been 'conferr_ed Padma Shri 7.
(1) Public Affairs (2) Education
(3) Social Work (4) Civil Service
67. Which is not a correct match ?
(1) Abhijeet Gupta - Chess
(2) Navneet Gautam - Football
(3) Krishna Punia - Discuss Throw
(4) Surbhi Mishra - Squash
68. When was National Food Security Act introduced in Rajasthan ?
(1) 15™ August, 2014 : (2) 2™ October, 2013
(3) 26" January, 2015 4 31* March, 2013
69. 'Who has been recently appointed as the Central Vigilance Commissioner ‘?
(1) Rajeev Dhawan (2) Ram Jethmalani '
(3) R.XK. Singh : (4) K.V.Chowdhary
SPACE FOR ROUGH WORK
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70." Who was the contemporary Chalukya ruler of Prithviraj Chauhan III ?
(1) Bhimdeval (2) Bhimdevall
(3) Jaichand (4) Parmardi
71. - Author of Vamsha Bhaskar is _
(1) Chand Bardai (2) Jagjeevan
(3) Jaychandra Suri : (4) Suryamal Mishran
72. Policy of Maharana of Mewar towards Revolt of 1857 was
ON Supported rebels ~ (2)' Support to Britishers
(3) _ Indifference | (4) None of the above
73. 'Which of the following ornament is being worn on the ears ?
(1) Tika (2) Buli
(3) Toti (4) Rimjhol
'711. Grierson termed the dialect of Bagad (Dungarpur-Banswara) as
(1) Gujarati (2) Mewari
(3) Malvi o (4) Bhili
75. 'Which 1s the lowest peak of Aravalli among the following ?
(1) Kumbhalgarh (2) Sajjangarh
(3) Taragarh - (4 Raghunathgarh
SPACE FOR ROUGH WORK
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76.

71,

78.

79,

Main component of compressed natural gas is
(1) methane : - (2) ethane
(3) propane (4) butane

Unit of electric current is
(1) Ampere | (2) Ohm
3) Vot 4) Watt

Remote sensing technique is used for
(1) Forest survey and managément (2) Wasteland identification
(3} Ground and surface water harvesting (4)  All the above

Which of the following house-hold appliances does not use electric current ?
(1 Air conditioner : (2) Microwave oven
(3) Solar cooker " (4) Refrigerator
80. The orbit commonly used for communication satellite is
(1) polar orbit - (2) sun synchronous orbit
(3) geo-synchronous orbit (4) any of these
81. Which acid is used in the lead accumulator cell 7
(1) Hydrochloric acid _ (2) Sulphuric acid
(3) Nitric acid {(4) Acetic acid
SPACE FOR ROUGH WORK
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82.

83.

FgAvSe Y G Foreelt e &

(1) v - () wEEST
(3) v | (4) R
S shelfira o ST o T B 89

R L @ W

3) s fevam @ wwid

e 1 i o e e e @ Rl g B 2
Q) WAy — 5T —> ™ |
(2) =™ —> e — TH —> WY

@) T dEE — B WS —> T Sl —> W
@) e — el o> a
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85, wiiffyE o =1 et wew Prfefeq H A &
(1) SEw (2) THF
(3 Wk (4) eew
86. Pt § 2 W T AT = A 2
(1) agHeeE ARge | () ewifE
@) T | @) T e
- % A % o
01. 2 Series-A-
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82. The lowest layer of atmosphere is
(1) Troposphere | (2) Stratosphere
(3) Mesosphere _ (4) Thermosphere -
83. Biotechnology is used in the field of
(1) Medicine ' (2) Agriculture
(3)_ Industrial fermentation (4) All these
84, Which of the following food chains is not written correctly ?
(1)  Green plants — Deer — Tiger
(2) . Grass — Mouse — Hawk — Snake
(3) Marine algae — Small fish ~— Large fish — Shark
4) Seeds — Squirrel — Owl
85 Abiotic component of ecosystem out of the following is
(1) Algae (2) - Forest trees .
(3) Chlorophyll (4) Cactus
86. Which of the foliowing is not a part of nitrogen cycle ?
(1) Atmospheric nitrogen (2) Ammonia
(3) Dead organism : (4) Hydrogen sulphide
SPACE FOR ROUGH WORK
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87. Trefafad § & HiT W TEdE S qfl SUAr § o § 7
() WYAeE-aee () TEPR-OEH
(3) wikueE (4) SR
88. Frefeiiige & @ B T o A AT ? |
(1)t (2) SEREA
C(3) T|EA 4 I
89, =¥ 1978 T URCKIE S o AT6! Her TREwel [¥1F] 1 1 T&l T o
(1) e @
3) R @) @
90, Frafafaa & § ST AT SIS W E 2
(1) W | (2) oot e
3) | @ W
91, diferan fraet SRt €
(1) T @) sTEE
@3) e =P @) i@
IF FE & e
24 .Series-A
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87. Which of the following uses mulberry leaves ? _
(1) Apiculture (2) Sericulture
(3) Pouliry " (4) Fishery

88, Which of the following is a water borne disease ?

(1) Polio (2) Vomiting
(3) Diarrhoea (4) All these

89. The first test-tube baby successfully born in 1978 was named as
(1) Louise Brown (2) Durga
(3) Alana Stewart (4) Lakshami

-90. Which of the following is a hereditary disease ?

(1) Rabies - (2) Colour blindness
(3) Polio (4) Small-pox

91. Jaundice is a disease of
(1) Kidney ' (2) Pancreas
(3) - Liver ) (4) Eyes

SPACE FOR ROUGH WORK
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92, SiataRIF o T AT w1 A ¥
| (1) W@asﬁa%m
(2)' Sl | T A e
@) ST i Tenl A S 9 v we
@) Iud |

03, i o Ay e e ol e R
(1) S e @ s wRE
(3) dmE wiEg (4) TEEABA

04, frfind ¥ B T PhvRe R w0 F e d W Ry
1) s @ WEEEE
(3) T™HIFE (4) REE STIRTE

0. Pt i A e s R
(1) THatew @ e
@) e B @ w=

96. T T AT W §

M L @ ml
3) ml B @ I
T P 3 T W
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92,

93.

94.

In biology immunity means
(1)  Ability to fight infection
(2) Ability to fight diseases

(3) Adequate tqlerance to avoid inflammation and allergy

4) All these

Polio vaccine was first developed by
(1) Jonas Salk : (2)
(3) Thomas Francis (4)

Which of the following is not used for preparing vermicompost 7

(1) Greenleaves 2)
(3) Cardboard pieces @)

Albert Sabin

Watson Home

Old newspapers

Plastic waste

www.upscstudymaterials.com

95. Deficiency of Vitamin B complex causes

(1) Dermatosis - (2) Pellagra

(3) Rickets (4) Scurvy |
96. Unit of volume of liquid is

m L (2) mlL
(3) ml 4 .
SPACE FOR ROUGH WORK
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97. diged! % WER % WHA W et §
(1) o dfae afafrnd

Q) HE TEEE S
€) sﬂ%maﬁrmmﬁmﬁaqﬁfmq
(4) Eet TEEe UREE

98, i, CuO +H, _A, Cu+HO, FUe wm s
) mwmwm@mmmm%i
(2) TS H A SR B o SARIHT B ¥ )
(3) I 3 BRI &I+l T AT BN E |
(4) T SereioRoT- IR SRl T8 § |

99, TwayHt SHFES Hel IRAT &
(1) Na,0 2) ALO,
(3) MgO 4 CO,

100. ﬁﬂmmmwﬁwéﬂ%

(1) W o e A
(2) Tl & w0 A
(3) el % w9 |
(4) IHEFEERE
T i A

01 : 28 _ Series-A

www.upscstudymaterials.com www.upscstudymaterials.com



www.upscstudymaterials.com

97. 'The process of burning of a candle involves

(1) only physical reactions (2)" only chemical reactions

€)

both physical and chemical reactions (4) only chemical changes

98. Correct statement for the reaction,

CuO+H, A Cu+H,O,is

(D
)
3
“

Copper is reduced and hydrogen is oxidised.
Hydrogen is reduced and copper is oxidised.
Both copper and hydrogen are reduced.

1t is not an oxidation — reduction reaction.

99. Correct example of an amphoteric oxide is

(D
3

Na,0 - 2) ALO,

MgO “) Co,

100. Chlorofluoro carbons are used

www.upscstudymaterials.com

(1) for preparing aerosol sprays (2) as solvents
- (3) asrefrigerants {4) for all the above
SPACE FOR ROUGH WORK
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101, TR 8 = T S & TR S B W TN & A &, T A B R ATHS |

1) 12%:% @ 12%
2
(3) 12% % @ 85%

102. Rt S 68 R A 3 W HIE 260 T HIE 0 I T mﬁaﬁ’rﬁ@ﬁsvﬂm%

At FuEe TS
1® 3 2 2
3) 1 4 0

103. "3 TErat w1 AT 07 T S 37 ¥ | T HEAA B O T FW
1) 2010 : (2) 8040
(3 2128 (4) 1914

104, 6 st B & SN e o 4 37! I TS W WY W L AR T B
(1) 99001 (2) 9901
(3) 99901 . (4) 90001

105. 3t 6 et 96 Fewt 8 ot o 9 €, A 18 T 4 f&m1 o forerett it = 2

(1) 144 (2) 67
Gy 32 @ 60
T F % oo @A
o1 30 i Series-A
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101.
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Some amount get double in 8 years at the rate of simple interest. Find the rate of interest.

) 12%% 2 12%
2 2
@) 123% @ 5%

~ 102. If a number is divided by 68, then quotient is 269 and remamdcr is 0. If this number is

divided by 67, then remmnder will be
1) 3 ' @ 2
3 1 CL 4 o0

103. Sum and difference of two numbers are 97 and 37 rcspectwely Find the product of these
numbers.
(1) 2010 - (2) 8040
(3) 2128 4) 1914

104. Find the difference between smallest number of 6 digits and 1afgest number of 4 digits.
(1) 99001 ' (2) 9901
3) 99901 {4) 90001

105. If 6 persons make 96 chairs in 8 days, then how many chairs will be made by 18 persons

- in4 days ?
(1) 144 (2) 67
3 32 4y 60
SPACE FOR ROUGH WORK
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106. 95 DR | S T T BA WA 4, 6, § 3K 20 ¥ gl R AR I H @ |
(1) 900 | . (2) 400
(3) 3600 (4) 1800

107, R e S i S S R 60% i ¥, o e B S e i S ¥ et sk

T WAT?
(1) 60% (2) 40%
3 37% % | - 4 50%

108, afs A FEME 3 : 2 : 5 % FFIAT F B ST S S B AT 1862, T T FeA F M 2
(n 7 () 14
(3) 21 o @y 35

109, el d TE B Siga Sl e = g & | AR wR! el W e 12 &, o =l den

e

| - 48
1 16 @ 7
(3 20 ° 4 18

- 110. ﬁmﬁwﬁwqﬁawm{ 12 T 35 & | T SHepul % AN Y SR &

: 12 : 17
M 35 2) 33
: 35 . 35
G 1o _ @ 17
IF Hid & o H
01 | 32 © Series-A
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106. Find the smallest number which is completely divisible by 4, 6, 8 and 20, and is complete '

square. _
(Iy 900 : (2) 400
(3) 3600 (4) 1800

107. If height of Umang is 60% greater than height of Garvit. Then height of Garvit will be less

than that of Umang
(1) 60% ) 40%
® 5% @ 50%

108. If three numbers are in the ratio 3 : 2 : 5 and sum of their squares is 1862. Then what will
be the second number 7

W 7 @ 14
3) 21 | @ 35

109. Mean of first three numbefs is double df fourth number. If mean of four numbers is 12.

Find fourth number.
M 16 o 2
(3) 20 : 4 18

110. The sum and product of two natural numbers are 12 and 335 respectively. The reciprocal of
sum of their reciprocals is : _

12 ) 17
(1) 35 \ (2) 35
35 : 35
3 I @ 3
SPACE FOR ROUGH WORK
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111. 25% 92 [k IR W TEW ¥ T W T 3R T 20 79 | G Q TER WX H

(1) ' T80
3) 275

2) 290
@ T95

112, 105 el ST e T35 ¢, & T 10 % fre e Tle < s € 2

%study@{a&erials.com

(1) 30 2 24
(3) 32 4 27
113, P A YR WY ?
(1) g =3 ey — 2 Wifkas
(2) T = 3 TEeE — 2 W
(3) A =3 TgeT — 2 mifaE
(4) TEEE =3 HiEE - 2 e
foymr RO et 91 & @RI F S AT U6 e SRS e €
e C Gl |
- (Z) ¥ (ars)
1978 - 79 5 300
1979 — 80 10 610
1980 — 81 11 550
1981 ~ 82 9 495
1982 - 83 8 360 ‘
TH RO W SR 0wt (114-118) & I o
114, T % T o o vl FA e el d ot ¢
(1) 1978-79 (2) 1981-82
(3) 1982-83 - ~ (4) 1980-81
IEFE F AT
01 | 34 Series-A
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111. Rahul bought a sweater and saved ¥ 20 when a discount of 25% was given. What was the

price of the sweater before the discount ?

(1) 80

©)

X775

2) %90

4 %95

112. The cost of 105 envelopes is ¥ 35. How many envelopes can be purchased forT 10 ?

)
@)

30
32

113. Which of the following is correct ?
Mode = 3 Mean - 2 Median
Median = 3 Mode - 2 Mean
Mean = 3 Mode — 2 Median
Mode = 3 Median — 2 Mean

o)
@
3)
@)

(2) 24
4 27

Following table shows quahtity and amount of import of food items in a country :

Answer the following questions (114-118) based bn this table.

Year Quantity | Amount
(Tons) T (lacs)
1978 —79 5 300
1979 — 80 10 | 610
1980 — 81 11 550
1981 — 82 9 495
1982 — 83 8 360

114. In which year was cost per ton Of food items lowest ?

(1) 1978-79 (2) 1981 -82
(3) 1982-83 (4) 1980-81
SPACE FOR ROUGH WORK
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115, 1981 — 82 # smag ford M wra= %7 9o wid =7 feem an 2
(1) 40 (2) T50wrE

@) 45w 4) T557mE

116. 5 ST A 119wT 1 SHawT Koo o1 7
(1) 4329 @ 40T

@) 86% @ 83z

117. o o & @ @ W d waitew e wee A g
(1) 1980-81 @ 1981-82
(3) 1982-83 | @ 1978-79

118. T o ® W S ST 3 Wi @ weifae HH afe § g8 ?
() 1979-80 | (2) 1982 — 83
(3) 1980-81 @) 1978-79

119, 3 50,000 T 8% v 5 3 2 7 & ferd i =t ot )

(1) 24,000 @) 8,520
(3) T8320 @ 28,000
6 8 & T ®=E
01 - 36 | Series-A
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115. What was the cost of food items per ton import in 1981 — 82 7
(1) T40lac (2) ¥501lac

(3) ¥451lac (4) T55]ac

116. What was the average of import in 5 years ?
() 43ton (2) 40 ton

3) 86tn ' (4) 83 ton

117. In which year was quantity of food items maximum decreased in percent ?
(1) 1980-81 (2) 1981-82
(3) 198283 | 4) 1978-79

118. In which year was cost per ton of food items maximum decreased in percent ?
(1) 1979 -80 _ | (2) 1982-83

(3) 1980-281 (4) 1978-79

119. Find the compound interest on I 50,000 at the annual rate of 8% for two years.

(1) 4,000 (2) 8,520
(3) 8,320 4) 8,000
SPACE FOR ROUGH WORK
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120. 60 =1 60% + 50 =1 50% = ?
1 11 . (2) 86
3) 8 4 6l

121. aﬁ%ﬁnﬁwfﬁ%maﬁﬁ@f%gmﬁ4 3tfrr &, A 9% FE AR ST |

1) 30 2) 40
(3) 60 _ (4) 20

122, et w P T o GET & 34 HoT T G ¥ | 9% Sife e @ 20% SRE T T

S &, &t T Wi T R | |

(1) 20% Q) 45%

(3) 60% 5 @) 75%
m TR,

(1) 380 Q) 100

(3) 376 @) 1000

124, T OF o F 8 F ¥, Wi I@ 16 {1 o v 12 7 o e o 3 13 e e
FHT A oy S e T § w8 smEm 2
3

) 33k - . @ Izfa
(3) 2%1‘3# (4) 3%%#
125, af 250 Hex Tt 37 vE @ w12 VHvs § aR HT ¥, @ 3 w5 R e w1 |
(1) 25 @A _ (2) 68 fEdAve
@) 72fEd@mava @) 75 fEdmAva
IF F & AU ©H
01 ' 38 | Series-A
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120. 60% of 60 + 50% of S0 = ?

1 11 (2) 86
3) 85 : : @ 61

2
121, If 3 part of any number is 4 greater than % part of this number, find this number.

(1) 30 _ (2) 40
(3 60 (4) 20

122. Utkarsh buys a TV at 3/4"™ of its printed price. He sells at 20% more of its printed price.

123,

124,

Find his profit in percentage.
1) 20% 2) 45%
() 60% ' @ 15%
44x3+ 128 + 120_,?
98.5-947  ~°
(1) 380 _ 2) 100
(3) 376 _ . ' (4) 1000

Ram completes a work in 8 days, Rahim in 16 days and Shyam in 12 days. If all three
work together, then in how many days will half of work complete ?

8 - . 11
(1) 3'1“§ days | _ (2} 6ﬁ cla;s

11 11
(3) 2‘1—3 days . . _ (4) 3ﬁ days

125, A 250 m long train crosses  pillar in 12 sec. Find the speed of train.

(1) 25 km/br. (2) 68 km/hr.
(3) 72 km/hr. @ 75kmr.
SPACE FOR ROUGH WORK
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126, 7 5 @ BF W TALE, 7 § Wi ©ES T § 7
(1) Bold (2) Superscript
(3) Regular _ (4) Italics

127. T # 9 B9 A1 S0 T W WSS T 7
(1) SMTP (2) FIP -
(3) TCP/P (4) HTTP

128.  HoER 2 B F A o e € 2
(1) SATETE. : - (2) HRH
(3) Amfen faew (4) wE. AT

129, ﬁgﬁﬁqmﬁqﬁw%wﬁaﬂﬁmw%?
(1) =97+45. . 2) =C8*B1

(3) 97445 (4 =C9+16

130. i Yiaur & T U WEe o 6T famerd & 3 UF T H WO Sl 8, % S 7 T e @0

F F AT T B e
(1) wss feeme 2) W;ifwm
(3) TS S @) e =

131, et 3 A e 9 o F Teregy W e 2

(1) &g 2) WEER
(3) WEH N (4) Esc®
TG % fog T

01 , 40 ' " Series-A
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126. Which of the folldwing is not a font style in MS-Word ?
(1) Bold' (2) . Superscript
(3) Regular " (4) Italics

- 127. Which of the following is a special protocol for e-mail ?
(1) SMTP ' - (2 FIP
(3) TCP/AP 4) HTTP

128. What is necessary for booting a computer ? -
(1) DBMS ) Modem
(3) Operating System. . o (4) MS-Office

129. Which of the following formula is not entered correctly in Excel ? |
(1) =97+45 (2) =C8+*Bl
(3) 97445 | - 4) =Co+16

130. Which feature is used to apply motion effects in between a slide exits and another enters ?
(1) Slide Design (2)  Slide Transitions

(3) Animations Objects (4) Animations Scheme

131. Which of the following will not advance the slides in a slide show view ?

(1) Mouse button (2) Space bar
(3) Enter key (4) Esckey
SPACE FOR ROUGH WORK
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132. U AT SNSRI T R S 7 et €

(1) el e @ Q) WANRIAE
(3) feoiem 2mie @ 4) TRF I

133, aﬁﬁwa‘mﬁuﬁﬁﬁiﬁéwwfﬁ@w%m%
(1) a () dWes

(3) Tt 4) T

134, e 3 ot & 7 e Pred & s o e £
(1) IA | Q) T
(3) UFHET . (4) T | FiE @

135. TR H A9 | A99 %iﬁﬁ%@wﬁﬁﬁ"?
- (1) (A9, A99) | (2) (A9to A99)
(3) (A9:A99) (4) (A9 —A99)

136, oF = W ISV W WARSH B oY W9 § (G@T ¢, HEAT g
(1) wies Wer sy (2) s
3) AW ' (4 ST 5

137. SR, ¥ Fa WA T 0
(1) Internet System Protocol
(2) Internet Service Provider

(3) Internal szstem Program

@) THIBTE

www.upscstudymaterials.com

TF 1 & fae s

01 a2
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132. A new presentation can be created from
(1) Blank Presentation | (2) From Existing Presentation
(3) From Design Template (4) All of these '

133. The box on the chart that contains the name of each individual record is called the
(1) cell | () legend
(3) axis (4) title

134. In Excel, where a row and a column meet, what do you call that ?
() Acell ' ~ - (2 Ablock
(3) Abox . | (4) None of these

135. How to specify cell range from A9 to A99 in Excel ?
(1) (A9, A99) (2) (A9to A99)
(3) (A9:A99) (4) (A9-A99)

136. The view that displays the slides on a presentation as miniature representations of the

slides 1s called '
(1) Slide sorter view' (2) Slide show
_ (3) Notes page view _ (4)  Outline view

137. What do you mean by ISP ?
(1) Internet System Protocol
(2) Igtemet Service Provider
(3) Internal System Program
(4) None of these

SPACE FOR ROUGH WORK
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138. = T TR S AT et Seor ¥, FEA

(1) SEAS IP BF | 2) VWerrww

(3) P wE @ IR
139, =7 3 @ B gee e B AN 9T Sl H TR e € 2

(1) SR A 2) W™

(3) sfede (1) TRRT-FIRE
140. http://www.google.co.in & Fr & & =i Metewier %‘ ?

(1) o (2) .in

3) www 4 http

141. @ deuEe O e w1 A uREn SR Wed R W #t @ien a1 39T R S w3,

FEATT & o
(1) IFEs , : (2) Swpem
(3) NI @ TEIwEE
142, % e deet ) e o e wr wm
(1) =i (2) SIE wREWT
(3) 3FE I @ Fete
143. TR, T ¥, TRE F T T ST H & (L 5T S-S HAIS B | A &
1) Cul+C (2) Cul+T
(3) Cul+E - 4 Cul+Y
144, TR (T ) St o | Few EA € |
(1) 256 (2) 255
(3). 156 . 4) 158
& T F e
01 .- .- . 4 © Series-A
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138. The internet address that doesn’t change every day is called

www.upscstudymaterials.com

01

(1) Dynamic IP Address - (2) Static IP Address
(3) Unique IP Address (4) None of these
139. The three basic categories of cornection to internet include all, eﬁcept
(1) - Direct Satellite (2) Dial-up '
(3) Broadband (4) Direct connection
140. Which of the following is called as protocol in the http:ﬂwww. google.co.in ?
(1) .o | (2) .in
3 www @ hup
141. The screen background and main area of windows where you can open and manage files
and programs is called '
(1) Background - (2) Desktop
(3) Wallpaper (4) None of these
142. Text editor that is the part of the Windows Operating System is
' (1) Wordpad _ (2) Adobe Photoshop
(3) Adobe writer : (4) Notepad
143. In MS-Word, the keyboard command to center align a text is
(1) Cul+C ' (2) Cul+T
(3) Cul+E - (4) Cul+Y .
144. A worksheet of Excel (old version) contains columns.
(1) 256 (2) 255
(3) 156 (4) 158
SPACE FOR ROUGH WORK
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145.  sitien fowem A, mmwﬁ%mm%l
) R : @ W
(3). W zEn (4 sl

146. I3 3T PR T E

(1) w%wmﬁmm@ﬂwﬁﬁw%l
(2) TEgHe & qud e e |
(3) T H IR A S ST FCE |

() TP |

147, FH d Y NS F IR B I A G F A0 72T B wwd &0
(1) Aferiert ot ' (2) e uuy @
(3) e @ : . 4) W

148. R R e e e ¥ 0

(1) wiEe . (» ws®

(@) wWEw (4) oRT TR
149.Wﬁqﬁﬁ@ﬁﬂmmmmmﬁm%mmnﬁ#%w

I 2T I ¢ N

1 - - ) €= |

(3) W @) THIPETE
150. foow 3 oo 35 forg et o 2 e v A R e & 0.

(1) oG o | (2) UHihsERY

(3) P g (@) g

T $E % g wm
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145. In Operating System, thé response time is very critical.
(1) Muititasking - (2) Batch -

(3) Real-time _ ' (4) Online

146. The word wrap features
(1) automatically move text to the next line when necessary
(2) appears at the bottom of the document -
(3) allows you to type over text
(4) None of these

147. The keyboard keys like Caps lock that turn on features on or off are called
(1) Navigation Keys : (2) ~ Special Purpose Keys
(3) Function Keys : (4) Toggle Keys

148. Pixels are associated with
(1) Graphics ' - (2) Sound. -
(3) Bytes (4) Data processing

149. Microsoft word autornatically guesses thé correct spelling of the month, the moment you

type the first letters of the month.
(1) two (2) three
(3) four o (4) None

150, Which of the following is used for manufacturing chips ?

(1) Control Bus (2) Semiconductor
(3) Control Unit (4) Parity Unit
SPACE FOR ROUGH WORK
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